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SN AZeS
HE: FOIME2Y(AB2S)
el a2 (el &)
SN - SRABH) - MRAY - BES 0] &k o4 p[E-LD HmE=ET
&323 234,046 229,046 5,000
FOHEH2 Y (AR2S) 150,894 145,894 5,000
TH&k2te| 62,024 57,024 5,000
A2 57,834 52,834 5,000
401 Al&HIZL R0 5,000 0 5,000
01 Al&HI 5,000 0 5,000
OF AL HI&HE o+ &X 5,000,000& 5,000 0 5,000




=
BE: FoMHSE(FHS)

CHel: FOIME XIS UL
SA - FH . GA(BH) - NSAY - BH= O &b o8 N2 HDS2
otths 211,508 193,508 18,000
FOIHE2Y(AHE) 158, 190 140, 190 18,000

FolME T 2 60,020 59,020 1,000
ALY 7.640 6.640 1,000

405 TS 1,000 0 1,000

01 RAUSEHSH] 1,000 0 1,000
OZ M A WA 1,000,000 = 1CH 1,000 0 1,000
THak2tel 67,630 50,630 17,000
ekt 21,210 4,210 17,000
405 XKtoHE SHI 17,000 0 17,000

01 AR =SEHSHI 17,000 0 17,000
OB HH 72 17,000, 0002 1CH 17,000 0 17,000




2AH: 5
PSRN
Sl T

SA -3 SASA) - MIRAY - B85 Ol &4 JIEH BlusZ
s1s 282,320 268,295 14,025
M2 Y (E1S) 199,891 185,866 14,025
THatzte| 77,881 63,856 14,025
HAr2el 73,761 59,736 14,025
401 AIEHIZSOHYI 54,555 40,530 14,025
01 Al&Hl 54,555 40,530 14,025

OFAL 202 &2 =XHE IS B3 At

14,025,000& 14,025 0 14,025




SN B2S
HH: ZOIME2Y(S2S)

o9l EOIREIME 2 (S &)
SN BB SA(S) - MBAY - BES 0l &t plE-E HlRE2
=23 225,520 221,520 4,000
FOMEHR2 Y (E28) 146,216 142,216 4,000

FOIXXIEH2E 38,040 34,040 4,000
FUXXEEH 2 34,440 30,440 4,000

201 LEr23H| 32,440 28,440 4,000
02 3Z2=24H| 10,000 6,000 4,000

OFCUXXHEH 2024 22/
10,000, 000& 10,000 6,000 4,000




A B4S
M FOHHRE(543)
el a2 (e &2
SN BB SR(EH) - MPAY - B 03] &k o8 pJE-F HIRE2
4= 249,384 239,384 10,000
FOUHAEHSY(E4S) 179,139 169, 139 10,000
TH&k2te| 64,499 54,499 10,000
EAtztel 59,509 49,509 10,000
401 Al&HIZL 20| 11,700 6,700 5,000
01 Al&HI 11,700 6,700 5,000
O=JtH cI2€E 5,000,000& 5,000 0 5,000
405 XHabE SHI 19,000 14,000 5,000
01 MY S SH S 19,000 14,000 5,000
O=JtH cI2LE 727 5,000,000 5,000 0 5,000




SN S
A FOHH2H(AS)
s N P gl CERE

0

SN BB S(EA) - MRAY - BES 0] &k o8 p[E-LN HlRE2
oS 210,273 209,261 1,012
FOHEH2Y (4 S) 147,046 146,034 1,012
TH&k2te| 45,646 44,634 1,012
A2 41,966 40,954 1,012
201 2Bt 34,576 33,564 1,012
02 B2l 30,616 29,604 1,012
OAE EHI= AL 10,776 9,764 1,012

—SE€E 2EXTZUWEE 2SI A

1,012,000& 1,012 0 1,012




SA: NS
B Z0IME2S(MIS)

el FOIME |2 (69 @2
SN BB SA(S) - MBAY - BES 04l &b ot plE-E HlRE2

&3S 275,904 256,804 19,100

FOIME2Y (A3SE) 192,295 173,195 19,100

FOIMS X 78,810 77,810 1,000

ga=d 8,380 7,380 1,000

405 KHabE =S| 1,000 0 1,000

01 Tt = SF S 1,000 0 1,000

OFRISES KNIA=HAAIAE 1,000,000 *1CH 1,000 0 1,000

THatzte] 86,185 68,085 18,100

EAtzte] 65,505 64,405 1,100

401 AIEHIZLSOHYI 32,834 31,734 1,100

01 Al&HI 32,834 31,734 1,100

Ost&4 dioid dMd &X 1,100,000& 1,100 0 1,100

A2t 20,680 3,680 17,000

405 XHatE =] 17,000 0 17,000

01 Tt = SFSH 17,000 0 17,000

OoESxte U -+ 17,000,000 «1CH 17,000 0 17,000




